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1st 20 Elements WORDSEARCH and QUIZ

Name each element, then find it in the wordsearch.
Words can appear horizontally, vertically, diagonally, forwards or backwards.
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answer can be used more than once.

1. A brittle silvery solid. Important in the electronics industry
2. A poisonous greenish gas which is heavier than air

3. A light chemically inert gas which is used in balloons

4. The two elements which are present in table salt

5. Three reactive metals which fizz when put in water

6. The gas which makes up about 4/5 of the air

iz: From the word list, choose the correct answer to each of these questions; the same
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